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Note : First 15 minutes are allottcd for the
candidates to read the question

paper.
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{1} Thus question paper is divided in three
Parts ‘A’ ‘B and 'C.
(2] Instructioms for Part-A :

[

@)

Arsswer any two of Muluple chowce
Ype questons from (a), (b, {c). (d) of
Quesuon No. 1. Each queston
carnes 2 marks. 2x2 =4 Marks
Answer any two from (a), (b}, (¢} of
Question 2. Each guestion
carries 3 2x3 =6 Marks

(3)

(4

Z

(1) Answer any one of Question No. 3

and Question No. 4. Each question
carries 1S marks.
| Question No. 3(a) = 7! and
Question No. 3(b} = 7; OR Question
No.4 = 15 marks |

1 =15 =15 Marks

Instructions for Part-B :

()  Answer any two of Multple choice
type quesuons from (a}, (b) , (c} of
Question No. 5. Each question
carmnies 2 marks. 2 x 2 =4 Marks

() Answer any ftwo from (a), (b), (c) of
Question No. 6. Each question
carries 3 marks. 2 x 3 = 6 Marks

(i) Answer any ome of Question No. 7
and Question No. 8. Each question
carnies 10 marks.

1 x 10 =10 Marks
lutr-euou for Part-C :

{1 Answer any two of Muitiple choice
type questions from (a), (b), (¢}, (d) of
Question No. 9. Each question
carries 2 marks. 2 x 2 = 4 Marks

(i) Answer any two from (a), (b), (c) of
Question No. 10. Each question
carries 3 marks. 2x3 =6 Marks
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{iz] Answer any one of Question No. 11

%)

§)

and Question No. 12. Each guestion
carries 15 marks.

| Question No. 11(a) - 7% marks,
Question No. 11(b) - 73 marks OR
Question No. 12 = 15 marks. |

o l « |5= 15 Marks
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When whate light 1s incident on a

prism which of the following colours

is deviated most ?
1) Red u) Green
w) Yellow iv) Violet

The radius of curvature of a mirror
1s 40 cm. Its focal length will be

ij 20cm ) 40cm
i) 80cm iv] 160 cm.

The flament of an electric bulb is
made up of

1)) Copper 1) Tungsten
w) Nichrome iv) Aluminius
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The law for finding the direction of
force acting on a current carrying
conductor in magnetc field is
i Ohm's law
n) Lenz’s law
i) Fleming's nght hand rule

w)  Fleming's left hand rule
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Explain refraction through a pnsm.

D:fferentiate between near point and
far point of a human eye.

Represent image formation by a
convex lens when the object is
placed between its focus and opucal
centre. '
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A person cannot see objects beyond
30 cm from his eyes. What is the
defect of wvision ? Find the nature
and focal length of the lens 1o
correct this defect

OR
A ray of light moving from Medium-|
enters into Medium-Il as shown in
figure.

Medium -1

Which of the two is denser
medium ?

Calculate tbj refractive index of

Med:um-ll with respect o
Mcd:ium-l.
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4.

bl On what factors does the resistance

of any conducting wire depend ?
OR

Current of 5 A is flowing through a
wire. How much charge will flow
through this wire in 10 minutes ?
Calculate the number of electrons
flowing per second through the wire.
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Explain the principle, construction and
working of an A.C. dynamo with the help
of a labelled diagram.

OR

What is meant by electromagnetic
induction ?  Explain  Faraday's
experiment related :with electromagnétic
induction. Write the law for finding the
direction of induced current.
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i) CH,CHO

@) CHy-CH,

iii) CH,COOH

w) CH,
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1) Na,CO,.10H,0

n)  CaOCl,

a1) NaOH
I\p” K2C03
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On mowving from left to right in a
penod 1n periodic table, the atomic
number

1) increascs

1! decreases

1) remains constant

v) first increases then decreases.

Which one of the following
compounds is acidic in nature ?

)  CH,CHO
i) CH,-CH,
i) CH,COOH
v) CH,

The chemical formula of bleaching
powder is
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Write down the structural formulac
of the following compounds

1) Butanone

1)  2-Methy! propanol-1.

What is modern periodic law ? How
many periods arc there 1n the
penodic table ?

Write fwo uscs of each of the
following compounds.

1) Baking soda
u) Sodmum hvdroxide.
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3 Cu,S -0, L»Cu?O +S0,

I T
i €O, M0 -t ac H 0, + 0,
The electronic configuration of the
clement A is 2, 8, 8, 1. What will be

the perniod number and group
number of element A ?

Balance the following reactions :
) Cu,S+0, a

»Cu 0 - SO,

u CO,-H,0 ——IL.;":‘”;’ CMi0, ¥ O,
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- 22 : 5 v} Aceuc acid reacts  with  ethyl
i) FIEw=, o TEEe & W A alcohol 2
FL 2 Ethyl alcohol is hecated at 443 K
. . with conc. sulphuric acid ?
iv) m A & ¥Fm Q'ia (o B S OR .
afvfFm st 2

Wnite short notes on the following :

1) Substitution reaction
& ¥u
v) e oewieE g wiw e

1)  Addition reaction

a3k mfEmwmat 2 ) Estenfication
iv)  Homologous series.
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What happens when (write only i) 3T W W) A w
reaction) — : . S
i) Sodium carbonate reacts with ) NEIE F jv) FeF T
acetic acid ? n)  IgaatA vt & Y AT 3 0A §
" hydraxide reacts wath , - ’
ii) s.:::m _ ?"d i n)  gEN

iii)  Sodium reacts with cthyl aicohol ? iij) WT iv) R e
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Water soluble vitamun is

1) Vitamn D u) Vitamun C
ny Vitamin A w) Vitamuin X
Bowman's capsule 1s the part of
ij abdomen 1) lwver

us) pancreas ) kidney
Male reproducuve organ in
angiospermic plant is

1) . gynoecium

i} androecium

1)  ovule

v} pollen wbe.
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Which one of the following is not the

prnnciple of theory of natural
selecuon of Darwin ?

1}  Struggle for existence

uj  Survival of the fittest

3l Usc and disuse of organs
w]  Origin of new specics.
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Differentiate between homozygous
and heterozygous.

Mention the number and types of
chromosomes found in male and
female humans.

Mendel conducted his experiment on
pea plants having seven pairs of
contrasting traits. Mention the
dominant and recessive traits in
length of stem and types of pod.
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Describe any two
discases in man.

sex-linked

OR
Explain the hypothesis of
biochemical origin of life
propounded by Opann.
Describe Lamarckism.

OR

Comment upon the lollowing :
i) Functions of liver
n) Fat soluble vitamins.

12.

12.

20
#E R R A W O feumt o
e |
o
NTREER A A § AR TR PR
a3 o A fom @ o)

Descnbe the functions of different

enzymes secreted by pancreas. Add a
note on diabetes mellitus also.

OR

Differentiate  between breathing and
respiration. Describe the mechanism of
inspiration and expiration in detail.

824{HX)



